

**Vendor Ranking** 

Page 1 of 1

02240417 Letting:

April 17, 2024 11:00 AM

Call Order: 001

Contract: E21C4

District: District 2 Counties: TAYLOR

Fed Aid No: N/A

Contract Time: 120 CALENDAR DAYS

**Project(s):** 44648447201 (\*)

Contract Desc: Desilting

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MAER HOMES, LLC	Responsive	Winning bid	\$169,027.00	100.00%
2	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$207,902.43	123.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 3

 Letting:
 02240417
 April 17, 2024
 Call Order:
 001
 Contract:
 E21C4

 District:
 District 2
 Counties:
 TAYLOR
 Fed Aid No:
 N/A

Contract Time: 120 CALENDAR DAYS Project(s): 44648447201 (\*)

Contract Descr: Desilting

This is a Business Development Initiative Contract for removing and disposing of silt, debris, vegetation, soil, rock, or any type of blockage inside a pipe, storm drain inlet or box culvert to provide maximum drainage capacity. To include furnishing all equipment, tools, labor, disposal of silt and debris, de watering, erosion and pollution control, cleanup, Maintenance of Traffic (MOT), storm sewer inspection (video and mapping) to produce a video DVD and report, and all incidentals along SR-55 / US-19 in Taylor County. BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/egualopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Item Description	Alternate Quantity Units	(1) MAER HOMES, LLC		(2) JT RUBY CONTRACTING SERVICE INC			
( ) indicates item is bid as Lu	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (CLEAN DRAINAGE STRUCTURES (LF							
0005 0430 94 1 DESILTING PIPE, 0 - 24"	4,898.000 LF	5.00000	24,490.00	9.00000	44,082.00		





**Contract Grand Totals:** 

## **Tabulation of Bids**

Page 2 of 3

Lettin	<b>g</b> : (	)2240417	April 17, 2024	Cal	l Order: 001		Contract:	E21C4	
	e No / Item ID Alternate n Description ndicates item is bid as Lump Sum		Quantity Units	(1) MAER HOMES, LLC		(2) JT RUBY CONTRACTING SERVICE INC			
				Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0010 DESILT	0430 94 2 TING PIPE, 25	- 36"	5,726.000 LF	8.00000	45,808.00	10.20000	58,405.20		
0015 DESILT	0430 94 3 FING PIPE, 37	· - 48"	1,576.000 LF	12.00000	18,912.00	18.00000	28,368.00		
0020 DESILT	0430 94 4 FING PIPE, 49	- 60"	1,879.000 LF	20.00000	37,580.00	19.50000	36,640.50		
0025 STORM CAMER		PECTION (VIDE	14,079.000 O LF	3.00000	42,237.00	2.87000	40,406.73		
		N DRAINAGE SE CTURES (LF)	ection Totals:		\$169,027.00 <sup>°</sup>		\$207,902.43		

\$169,027.00

\$207,902.43



04/25/2024

**Tabulation of Bids** 

Page 3 of 3

**Letting:** 02240417

April 17, 2024

Call Order: 001

Contract:

E21C4

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.